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Statistics 21 Mr. Murves
Fall 2002

Midterm I
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1. The quotation below comes Feoam aty article in the New York Times of Tuesday,
September 24, 2002,

Putting a Premium on Helmets

Maotoreyelisls v de oot wear L
belrsets have nsuch kigher oepital T
* gigats i rhey crrash than tioge win
wear them, i e study has tound.
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True or false, and cxplain: From the stndy (a1 least as described in the arbicle), it
wauld be correct to conclude that the 19% who had not worn helmets incurred
the nigher Rospital costs becase they tacked the protection of a helmet,
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(51 2. Consumer organizations are concevned about the amouni of debt Univeruty

students carry on their credit cards. An article in the San Francisco Chromnicle
af Decamber 23, 2001, presented the following graph
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(100 3 At the end of the first month af a six month training program, the participants
wete given a written examination, The average score (out of TI0) was 62 arul the
SO was 115, Thn: scores followed the normal curve closely.
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(3 4 [(See the preceding problem ) Anvone who scored in the bottom 20% on the

wrilten examination was drnpped from the program. Find, approximately, the

5th permntllasﬁ—the-bmres o e peopte remadning in the propram.
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(1 5 () lind the correlation eoefficient betwoen % and y for the data below. /:|(/
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{t} T the table below, circle lhe points on the scatter diagram that lie below the
repression line for predicting y from x. Bxplain your choices by r'{‘ammng and‘
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10y & A growth study for men led to the following reyliy;

average heipht at age & = 46 inches, 50 = 1.7 inches
average height at ape 18 = 70 inches, 5D - 4.5 inches
correlation coefficient = (LH3
The scakter diagram s football shaped.
Cne man in the study was 448 inches {all al age 6 and 71 inches tall at age 18,

{a} Use the regression method o predict his height at 18 from his height at 6.
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o midterm and a final pxaminaiion. The scaiter diagram foor

{5) 7. Alarge class has on
the two exams was foatball shaped and showed a moderate positive association.
[wu porcentiles are described helow: ’
o wholo class.

{i] The 9th percentile of the final examination scores for
Lhpse in the class

(i} The 90th percentile af the final examination scares
who scored at the S0th percentile on the midlern.

It would be reasonable 1o guess that -
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Table
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ANORMAL TABLE
2 Height Area r  Helght Area T Height  Arer
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Ldl (497 E3ES 2.00 0.6k $eS3 4,40 G002 SOEY
L45 1394 B7.29 193 0351 9953 44% 0002 59,0003




